Converting Between m and km (C)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
: : — : , > X
G M k h dai 'd ¢ m [ n
9876543215-5)"512—345—6789
. Convert 34,700 m to km

Convert 980,000 m to km

Convert 0.83 km to m

Convert 620,000 m to km

Convert 0.0621 km to m

Convert 4.452km to m

Convert 0.09432 km to m

Convert 1.396 km to m

Convert 37,300,000 m to km

Convert 248,200,000 m to km
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Converting Between m and km (C) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.
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Convert 34,700 m to km
34,700m <+ 10+ 10+ 10 = 34.7km
Convert 980,000 m to km

980,000m =+ 10 - 10 = 10 = 980 km
Convert 0.83 km to m

0.83km X 10 X 10 X 10 = 830 m

Convert 620,000 m to km

620,000m =~ 10 =10 =+ 10 = 620 km
Convert 0.0621 km to m

0.0621 km X 10 X 10 X 10 = 62.1m
Convert 4.452km to m

4.452km X 10 X 10 X 10 = 4452 m
Convert 0.09432 km to m

0.09432km X 10 X 10 X 10 = 94.32m
Convert 1.396 km to m

1.396km X 10 X 10 X 10 = 1396 m
Convert 37,300,000 m to km
37,300,000 m =+ 10 = 10 + 10 = 37,300 km
Convert 248,200,000 m to km
248,200,000m =+ 10 + 10 = 10 = 248,200 km
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